HE4%V:

RANGLISTE MITGLIEDER +

SBUBEN
- KASSEL

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

76. SPIELABEND AM 22.09.20

FR. 18. SEPTEMBER DI. 22. SEPTEMBER || GESPIELTE SERIEN VERL
RANG NAME SCHNITT| + /- || GEW | VERL

1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. Al vV % GEG

= |RUHKAMP 1.584 | 1.452 2 | 24 1.224 | +27 || 14,6| 2,8 | 3,7

= |BAUCKLOH, A. 8 |34 1.140 11,3( 1,4 | 6,2

= [mAauL 1.715 18 | 24 1.087 12,0 2,3 | 5,0

= |LOHSE, Mm1. 9 1.075 10,1 1,3 |53

= |HONAUER 51 | 40% | 1.050 11,1 2,0 | 4,8

2 | = |BAUCKLOH, W. 97 | 79% | 1.023 9,9 [1,1 |50

= |BRAUNHAHN 12 | 34 969 11,7 | 2,8 | 3,9

= |v. ROOS 0 |56 |43%| 959 10,9 | 2,2 | 3,9

4 | = [KURING 12 | 60 | 52% | 951 10,8 2,1 | 3,8

= Just 14 | 33 939 9,9 | 1,5 | 3,6

= |KNOFEL 62 | 48% | 937 10,9 2,0 | 2,8

= |[GLAGoOw 78 | 60% | 925 9,9 | 1,6 |41

7 | = |WINTER 16 | 70 | 62% | 877 9,9 | 1,9 | 3,7

= |BREITFELD 2 | 36 873 9,9 | 2,4 |42

= |SKWARSKI 1.195 18 | 21 872 | +16 ||10,0| 2,7 | 5,3

8 | = |DELLITH 545 908 107 | 82% | 846 = 86 | 1,4 |41

= |[EWERT, W. 32 844 85 |17 |48

= |KEIm 38 839 79 | 1,1 |53

9 | = |GANTE 576 |1.457 1.478 | 288 10 | 124 |100%| 823 +1 |l10,2] 2,6 | 3,8

J |GESSNER 334 |1.209 2 |31 822 -4 19,0 19|45

10 | = |[KUDERLING 1.149 | 846 736 88 | 70% | 794 = 82 | 1,5 | 4,2

11 | = |[KRATZSCH 10 | 50 | 43% | 786 7,7 | 1,0 |43

= |EWERT, UWE 2 | 32 773 7,6 | 1,4 |56

12 | = [KOSSINGER 671 |1.157 12 | 59 | 51% | 740 7,6 11,3 |34

13 | = |PORTER 51 | 40% | 636 7,7 | 2,2 | 3,2

14 | = |BLAUERT, A. 447 | 708 856 | 615 47 | 37% | 622 + |63 |14 |46

= |LOHSE, MA. - 2 | 2% | 1.239 10,5 | 0,0 | 4,0

= |DANNER - 3 | 2% | 1.129 13,3 2,7 | 2,7

= |DRAUDE - 2 | 2% | 974 14,0 4,0 | 3,5

= |KOTZOREK - 1 | 1% | 960 9,0 1,0 | 7,0

= |POTTER 1.013 - |25 J19%| 873 9,7 |23 |48

= |GRECIC - (112 ] 8% | 836 73|10 |65

= |BOHM - 2 2% 834 65 (00|70

= |[FLOTHER - [ 15 J12% | 797 96 |21 |29

= |DILCHER - 3% | 789 78 | 1,5 | 45

= |REITZE, A. - 2% | 787 75|15 |35

= |HEYNER - 2% | 777 6,7 | 1,0 | 6,7

= |REITZE, R. - (112 ] 8% | 766 7,9 | 1,9 | 4,7

= |WIESER - | 40 | 31%| 652 80 |21 |32

= |KAUFMANN - 2 | 2% | 313 7,5 | 40 | 2,0

= |APPELBAUM - 1% | 289 50 | 4,0 |90

DURCHSCHNITT | 864 9,8 |18 |45




